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Precalc Beginning Identities Name Kﬂf

Pr

ove each of the following using the established rules.

Work on one side only (either side will do). Do not skip steps - if in doubt, put it in.

6.

10

13.

14.

15.

. cotf=cosfcscf
cosxsecx = tanxcotx
1+ cot’ a 5
————=col" «
l+tan~ «

. (sech + 1)(sech - 1) = tan’0

. (sin?0 - cos’0) = 2sin’0 - 1

(sin #—cos )" =1—2sin fcos

tan x —cosx
———————— =secx—cotx
sin x
. (secH + 1)(cosO - 1) = cosb - secH

tan ff —cot f# C1-2cos? B

tan ff +cot f#

1
=2cotfcscl

“l-cos® 1+cosf

l+2tana  cota +2

|-2tanez  coter—2

cotx+1 cosx+sinx

cotx—1 cosx-—sinx
b 2 ] ]
tan“0 + csc’® = cot"0 + sec O

seca —Ccosa = sina tan &

Isdrawkcab kniht ot evah uoy semitemoS

saving journal files Page 2



1. cotf=cosfcscf

6. (sinﬂ—cosﬂ)2 =1-2sin fcos f

(Sinp ~Cosp) (Sin ® -cosB)

Sin*® -25in6Co5p + Cos*H

Sintd +cos*G -23i0B (ds6
| ~2SinB CosB vV

1}

TR t}
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2. cosxsecx = tanxcoty

= fosp . - = JipX . Los x
SinG osX  sinX
= Cosp = JiaXx. L. . CosX
5’00 CRK oK
= CLt._é v = L.cCosk
Casx v
= SeCX CosX = (oSXSeX
g et oo 4. (sech+ 1)(sech - 1) =tan’d
l+tan’a —
= Sec?9 -\
= (s¢?er N +-@30' i’
Scczd . ) ) )
. 5. (stn°8 - cos6) = 2sin°6 - |
= 3Sin°A = '1L: . Cosex
1 Sinet | = 5in*® + Sin %8 -|
Cos or ¥ Pyias. = |-Cos%6 + 5/n%6 -1
TD. = Sin%*e -cos%e .
= Collex v -




sinG 006 - Cosb . (osb
Sinb_eose  SinBk ConP

sink N0 4 Coob | coss

1}

(1}

¥ AHernativt method below

fanx —cosx
@ - =secx—cotx
simx _—

-t _ eosx
S Syax

310%
= _Cs8X _ (piX
SinX

=Sk o _eotY = L. _cotX
Cosy Sm¥ (o 3% 4

= Seck—CotX

o W\ reslp v
tanf+cotf —

06 eos@ SNB Cose

31?6 -Cos'
<'nB o0
S'n?@ +Cos*6
3iNB (os@

30 B -Cos’8 . Srablose
5inBLost  Sin*bt fosTe

;_L’l&ﬁ -C0oS *A =
1

% pythad, Fo
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10.3 -
[u.ubo 1-cosd 1+cosf

[-cos>6 ~Cos*8 =

8. (secO+ 1)(cosb - 1) =cosh - secH
5€C0 C0s6 -5¢¢O + Cose -l

| - Sece +¢cos6 -1 =
o058 —-sec® v

9)
{Hc"@

=2cotfcscd

| +€050 - (|-COSQ =
C 1+0030)(1-¢0SO)

20058 - 20050
| —Cos*6 5in%6

= Q CoSO |, |
Sin® Sind

2 Cot® €506 v

= |- 2€e0s20 v

e ——

-

(ase” 0% -seco +cose-|



¥ AHErnd Ve method :

fan x —cosx
@ - =secx—cotx
sinx

= Sink-<d= (05X ¢osk
siox COSX siax  (osy

_ Sipx - costX
= Sinx CosX

Cosx ( 3 - LosX)
IInX CosX

7anx — CosX
SinX

saving journal files Page 5



Kef

11 1+ 2tan _cota+2

1-2tana cota—2

= L. 42 .fane 1L 4 2180~ I+ atana
Tan® Tanes = 18Nner fane - tuner
4 -2 . TAN~ 4 - 2fzne —2ens
+ane taner Tand  tfEne tan o
= t2fane | tan & = I1R2fane
fan e -2 an<’ |-2ano
1, 291 _ g N
sec —_
= S5ec®® _ - =  |]-C(Co0s*® = 3n*® v
Sect® Sec'e
¥ pythas To
3 cotx+1 cosy+sinx
" cotr-1 cosx-sinx
COSX 41 50X cosX + SinX
10 S Sin X = (0SX +Siny . SiAX
cosX —| , 5in¥ CasX~3inx 3ia% COSX —3inX
3inX Sinx sin X
= CosX +3inX 4

COSX -5inX
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i1

X Qthag. T
4, '+ o = corf e sc
sec*9 -1 + ¢sc?6

sec?0 -1 + )+ cot%e

15. seca-cosa =smatana

= [ _ CoSer. co=ex
Cosx \ ¢oser

= |-00S"a = 3in*x

cosSer Coser
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(o126 + Sec?b vV

siner. jinec = Siner tihx
Cose —



